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1 [LEESEmEEFEFEIR) ifit 2k 105 31 9
2 |HERTHEEE(RIR) ifit 2k 105 26 9
3 |SB)IETHEE=E (JL) it A 6B 6 6
4 |[SE)IETHEXE (/) it A AR 12 4
5 |BITHEFE it K 5 B 14 5
6 |BRETHEFXE ifit 2k 105 43 10
7 | EETHEXEENSH) it ke 11 s 36 11
8 [ BEITHmEXECER) it ke 11 s 35 11
9 |BEREMEXE it A OB 30 9
10 |BEHmEEE ifit 2 105 20 10
| EIE—as2a=T1EE it A 4B 5 4
12 (I _asa=—T4FE it A 7B 22 9
13 [ EIE=a3a=T1EE it 2 5B 6 5
14 |RBAETOS 2 =T E (A) it A7 B 29 7
15 |FBFIBTOS 2 =T ¢1X = (B#R) it A 6B 6 6
16 | A2 =T4EE(SH) it A S B 5
17 |ZBAEOS2 =T EEQEH) it 2k 5 B 7 5
18 |NBET2 T HaSa =T E(5H) it K 6 24 6
19 |[TBET2 T HaSa=—TFE(25H#) it A 7 B 27 7
20 |[HAEULETHEEE (15H) it A 7 s 26 7
21 |RAMETHEFE(CSH) it A 7 B 26 7
22 [ FEROSa=-T1FE it A7 B 11 7

it 449 159
No. SE4H EXK@EEM)| BEEH
1 [T EETHETEERE 129.73 4
2 |EEREMEEESERE 144 3
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